BiIG BIKE PARTS" INSTALLATION INSTRUCTIONS

Copyright© 2003 by Big Bike Parts, Inc.
No part of this instruction sheet may be
reproduced without the written
permission of Big Bike Parts, Inc.

LOWER COWL DEFLECTOR
PART NO. 52-715
FITS HONDA GL1800 GOLD WING

TOOLS REQUIRED: 4MM ALLEN WRENCH

5MM ALLEN WRENCH
10MM WRENCH

ASSEMBLE THE PLASTIC CLIP (1A) TO THE PANEL (1B) USING M6 X 1.00 X 13MM
LONG SCREW (1C), LOCKNUT (1D) AND PLASTIC WASHER (1E). DO NOT TIGHTEN
DOWN.

ASSEMBLE THE METAL CLIP (1F) TO THE PANEL (1B) USING M6 X 1.00 X 13MM
LONG SCREW (1G), LOCKNUT (1H) AND PLASTIC WASHER (11). DO NOT TIGHTEN
DOWN.

ATTACH THE PLASTIC CLIP TO THE VERTICAL CRASH BAR.

REMOVE THE LOWER SOCKET HEAD SCREW ON THE FRONT COWL.

USE THE M6 X 1.00 X 18MM LONG SCREW (1J) AND SPACER (1K) PROVIDED TO
ATTACH THE METAL CLIP TO THE SCREW HOLE IN THE LOWER COWL.

TIGHTEN ALL SCREWS DOWN.

REPEAT FOR THE OTHER SIDE.

1C) ME-1.0 X 13MM LONG SCREW

(1E) PLASTIC WASHER

(D) LOCKNUT

(1K) SPACER

(1) PLASTIC WASHER

E
g
S
=
5
g
3
2
&
&
=

(1H) LOCKNUT




